SHISEE 5A TEFER

RIEBHILNA /NP
=] B2 B | E% TE-=8B% =EE HIEE b 2 3 THEZ
1 +
2 =}

3 A b A =|
4 X #EYDH
5 K ZELMAE
ay it s, 14 14:45
6 ¥ ERRE XIS PG 15:35
7 & EOHRHERZ(1~65 WXP 15 ~451430C5
1) 5 ~6%1535C5
8 +
9 |
Vi (13- 1~3%4 14:45
10 A MEHRZ (13:30) 4~6% 15.35
e k- IR 1-2%4 14:45
11 X 7 |PHRE(13:30) 3~GE 15:35
- HEE =% 7 = ~ :
12 XK il | g [FHEYE) 1~6% 14:15
13 X ESRRZ 45 14 14:45
RERZFER 2~6% 15:35
. 1:2% 14:45
14 £ | AR 3~6% 15:35
15 +
16 H
= 1~3%4 14:45
17 A 9770 4~64 15:35
" k3= 124 14:45
18 X E1 0 3~6% 15:35
19 x wE | 38 |wamy @) 1~6% 14:15
20 x MAHZHRE 1~64 13:00
. 1:24E 14:45
21 & AR HOEDEE 3~6% 15:35
22 +
23 H
1~3% 14:45
24 A 4~6% 15:35
e BB 1-24 14:45
25 X 57 3~6% 15:35
o | HE |wa - N _
26 X oE =5 BREFHENE 1~64 14:15
[ A=t = e 15":14145
27 ¥ LEZH-FEKRAE (64F) 2~6% 15:35
o 1:2% 14:45
28 & AR 3~6%F 15:35
29 +
30 H
DER O
31 A wE LREGF) 1~6% 14:15
<6ADITEFE>

SH(RNRKREES F+FEL 8H (M RAR—YTRH
188 (&) HL\&OEH 218(R)I57




